2022 (£ fM4)FE5H258

SH3FEEBHC RR-FHMil/— R RDOBE SH2EEEC RR-FHil/— R ROBE
REFHAE EHHE 1545 y REFHAE EHH 1545 y
HE1 Ea-00 S 4% - SHmE B 3 &1 Ba-H S 4% - SHmE B 3
E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ SIEFEH| 3.33 E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂzﬁmili )| 3.33
Hoe SR SHiHREE (EEHR) Ho SR FHiHREE (EEHR)
HAER 3 2 1 H AR 3 1 2
/NEE 3 2 0 1 0 0 /bt 3 1 2 0 0 0
HE2 REERIL It i = 5 HAE2 REE R B2 sHmIE B 5
E= ﬁ-EWﬁ;eﬁ%m% =IETYH| 367 EN= ﬁ-EWﬁ;eﬁ%m% SEEFY| 367
B 2 FHEsREE (EEEE) B 2 FHiEREE (EEHE)
FER 6 4 2 EER| 6 4 2
__MEE 6 4 2 0 0 0 ___IhEE 6 4 2 0 0 0
&3 B A Moo s i S IIE B 2 EE3 BB A 4% - SHMIE B 2
E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ STEFEH|  4.00 E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ STEFEH|  4.00
Hoe SR SHiHREE (EEHR) Ho SR FHEHREE (EEHR)
HAER 2 2 H AR 2 2
/NEE 2 2 0 0 0 0 /NEE 2 2 0 0 0 0
HEAHEFRE-TEHR It i = 7 HEA HERE-FTERR AR FHlIE B 7
EEN= ﬁ-EWﬁ;eﬁ%m% =IETH| 3.38 EN= ﬁ-EWﬁ;eﬁ%m% SEEFY| 3.25
B 25 FHiEREE (EEEE) B 2 FHiEREE (EEHE)
H AR 16 7 8 1 FAER 16 7 6 3
_ ___/I§ 16 7 8 1 0 0 _ ___M\E 16 7 6 3 0 0
&S FEDZITAN 4% - SHlIE B 4 &S FEDZITAN 4% - SHlIE B 4
E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ SIEFEH[ 343 E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ SIEFE[ 2.86
Hoe SR FHiHREE (EEHR) Ho SR FHEHREE (EEHR)
HAER 7 4 2 1 H AR 7 1 4 2
_ /NEE 7 4 2 1 0 0 _ /M 7 1 4 2 0 0
H#Ee HE-HEHE It i = 5 H#Ee HE-HEHE Fk% - Ll E B 5
EEN= ﬁ-EWﬁ;eﬁ%m% SEETH| 3.70 E= ﬁ-EWﬁ;eﬁ%m% SEEFY| 3.70
B 25 FHEEREE (EEEE) B 2 iR EE (EEEE)
EER| 10 7 3 EER| 10 7 3
_ ___/DEF 10 7 3 0 0 0 ___/DEE] 10 7 3 0 0 0
HE] FELIE i S IIE B 3 EE FEXIE 4% - SHlIE B 3
B A& FHEERSESEE | 3.00 B sk -HMEERTSTE TS| 3.07
B gt FHEREE EE520 B a8 -FHEREE EEE2)
HAER 15 3 9 3 H AR 15 3 10 2
INEE[ 15 3 9 3 0 0 ___INEH 15 3 10 2 0 0
HES HEMRFRE It i = 6 HES HEMRFIRE Fk% - Ll E B 6
EN= ﬁ-EWﬁ;eﬁ%m% =TEEH| 375 EN= ﬁ-EWﬁ;eﬁ%m% SEEFY| 342
B 25 FHEEREE (EEEE) B 2 iR EE (EEEE)
EER| 12 9 3 EER| 12 8 3 1
_ ___/DEF] 12 9 3 0 0 0 _ ___/INER] 12 8 3 0 0 1
EEo ok e am i S IIE B 3 HEQ Hin et -Haam 4% - SHlIE B 3
E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ SIEFEH| 3.14 E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ STEFEH| 2.88
Hoe SR FHiHREE (EEHR) Ho SR FHiHREE (EEHR)
&5 7 4 1 1 1 &5 8 4 1 1 2
| _ __NEH] 7 4 1 1 1 0 [ _ —_hE[ 8 4 1 1 2 0
HE10 KEEE B SR FEfIE B 6 HEI10 KFEE -7 B2 sHmIE B 6
(1 KRFEE E= ﬁ-ﬁ{ﬁiﬁ“ SHETY| 3.71 (1 KRFEE E= ﬁ-ﬁ{ﬁiﬁ“ SEEETY| 3.63
B 2% FHiERE (1lilm1¢§iz) B 2% FHiERE (ﬂﬂmﬁﬁz)
HAER| 7 5 2 HAER| 8 6 1 1
__MEE 7 5 2 0 0 0 ___IhEE 8 6 1 1 0 0
(2) B4 7% 4% - SHlIE B 2 (2) 7% A% - SHlE B 2
E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ STEFEH|  3.00 E= ﬁ-nﬂﬁ%ﬁﬁﬁﬂ SEEEH[ 27
Ho SR FHiHREE (EEHR) Ho SR FHiHREE (EEER)
HAER 6 1 4 1 H AR 7 5 2
/NEE 6 1 4 1 0 0 /NEE 7 0 5 2 0 0
RAR - FE{IE B 46 RAR - FE{IE B 46
B af-FHMEERTSEETY| 346 B a-FHEERTSEETY| 3.32
BC 2 i RS E (EEE5) B 2 iR EE (EEHE)
HER| o1 48 34 8 1 0 FHER| 94 43 37 11 2 1
E&tl o1 48 34 8 1 0 E&tl 94 43 37 11 2 1




